

ORDER #003416

Yula Boy High School CONTACT: Shachar Gargir

818-437-0359

Order Date: March 22, 2023 Due Date: Upon Receipt

P0:

Shipping Address: YULA HIGH SCHOOL 9760 W PICO BLVD. LOS ANGELES, CA 90035

EVENT DATE IS MAY 23RD, 2023

*DELIVER * INSTALL SUNDAY MAY 22ND...TIME TBD*

PICK UP WEDNESDAY AM

| Description | | Qtty | Price | | Total |
|-------------|--|----------------|----------------|-----|------------|
| CATERING | | | | | |
| | Banquet Table, Queen | 7 | \$18.00 | Т | \$126.00 |
| | Banquet Table, King | 5 | \$22.00 | Т | \$110.00 |
| | IVORY "KING" LINENS 7-QUEEN TABLES/5-KING TABLES) | 12 | \$28.50 | Т | \$342.00 |
| | | | Total CATERING | | \$578.00 |
| ADDITIONAL | | | | | |
| I | Acrylic Podium | 1 | \$175.00 | Т | \$175.00 |
| | | Total ADDITION | | IAL | \$175.00 |
| COURTYARD | | | | | |
| | IVORY VELVET DRAPING 8FT HEIGHT X 12FT WIDTH (BEHIND BACK BAR) | 1 | \$150.00 | Т | \$150.00 |
| | 8FT X 20FT GREEN ARTIFICIAL GRASS RUNNER FOR MAIN ENTRANCE | 1 | \$400.00 | Т | \$400.00 |
| | 8FT X 50FT GREEN ARTIFICIAL GRASS RUNNER WALKWAY | 1 | \$1,000.00 | Т | \$1,000.00 |
| | 8FT X 20FT GREEN ARTIFICIAL GRASS RUNNER FOR ENTRANCE TO GYM | 1 | \$400.00 | Т | \$400.00 |
| | 20FT X 8FT GREEN HEDGES WITH SHELVES FOR PHOTOS AND FLORALS | 5 | \$175.00 | Т | \$875.00 |
| | STRING LIGHTING SEE DRAWINGS FOR AREA | 1 | \$1,200.00 | Т | \$1,200.00 |
| | LED Uplights (SOFT AMBER) 2 - HEDGES / 3 -TREES OR AREA | 5 | \$35.00 | Т | \$175.00 |

| Description | | Qtty | Price | | Total |
|---------------|--|------|-----------------|---|------------|
| | BAR LIGHTING WASH + COLOR GELS | 1 | \$100.00 | Т | \$100.00 |
| | LIGHTING WASH (FROM VALET AREA) + COLOR GELS | 1 | \$100.00 | Т | \$100.00 |
| | 25FT X 10FT VELVET DRAPING (IVORY COLOR) BACK AREA HARDWARE INCLUDED | 1 | \$250.00 | Т | \$250.00 |
| | WHITE SOFIA 360 (HALF ROUND) 2 HALF CURVES | 1 | \$950.00 | Т | \$950.00 |
| | WHITE ALICE BAR BACK | 1 | \$175.00 | T | \$175.00 |
| | VINTAGE LINEN 120" ROUND LINENS (FOR EXISTING TABLES AT SCHOOL) | 5 | \$30.00 | Т | \$150.00 |
| | Willow Chair, Light Wood FOR COCKTAIL TABLES | 20 | \$12.00 | Т | \$240.00 |
| | | | Total COURTYARD | | \$6,165.00 |
| RECEPTION (G) | YM) | | | | |
| | PRISCILLA VINTAGE LOVESEAT FOR HONOREE | 1 | \$175.00 | Т | \$175.00 |
| | LIGHTWOOD 6FT X 2FT TABLE FOR HONOREE | 1 | \$175.00 | Т | \$175.00 |
| | Montauk Side Table, Light Wash FOR HONOREE | 2 | \$55.00 | Т | \$110.00 |
| | JOSEPHINE DINING CHAIR FOR HONOREE AT DINING TABLE | 1 | \$27.50 | Т | \$27.50 |
| 1000 | FLYNN 6FT BARS (2 PIECES) 2-6FT BARS | 1 | \$700.00 | Т | \$700.00 |
| | FLYNN BACK BAR | 1 | \$350.00 | T | \$350.00 |
| | STAGE 20FT X 8FT X 16" HEIGHT FOR GIRLS BAND | 1 | \$375.00 | Т | \$375.00 |
| | BLACK ASTRO TURF COVER FOR STAGE 20FT X 8FT X 16" FOR GIRLS BAND | 1 | \$250.00 | Т | \$250.00 |
| | SINGLE STEP COVERED IN BLACK ASTRO TURF | 1 | \$35.00 | Т | \$35.00 |
| | FOR GIRLS BAND | | | | |

| Description | | Qtty | Price | | Total |
|---------------|--|-------------------------------|-----------------------|-----|------------|
| | BLACK ASTRO TURF 4FT X 16FT X 16" COVER STAGE PROVIDED BY CREATE | 1 | \$375.00 | T | \$375.00 |
| | SINGLE STEP COVERED IN BLACK ASTRO TURF FOR MAIN STAGE | 1 | \$35.00 | Т | \$35.00 |
| | CUSTOME WALL BACKDROP WITH OPENINGS DECALS INCLUDED IN COST | 3 | \$550.00 | Т | \$1,650.00 |
| | 72" ROUND BANQUET TABLES | 16 | \$11.00 | Т | \$176.00 |
| | VINTAGE LINEN 132" ROUND TABLECLOTHS PAIRED WITH WOOD CHIVARI CHAIRS + IVORY CUSHION | 16 | \$35.00 | Т | \$560.00 |
| | LIGHTWOOD CHIVARI CHAIRS WITH IVORY CUSHIONS FOR ALL ROUND TABLES +LINEN | S 192 | \$6.00 | Т | \$1,152.00 |
| TI | PROVIDENCIA WOOD SPECIALTY 8FT X 4FT TABLES GUEST SEATING | 10 | \$250.00 | Т | \$2,500.00 |
| | Banquet Table, King | 11 | \$15.00 | Т | \$165.00 |
| | VINTAGE LINEN "KING" LINENS | 11 | \$45.00 | Т | \$495.00 |
| | WILLOW DINING CHAIRS FOR 8 - LONG WOOD TABLES + 11 - LONG LINEN TABLES | 212 | \$12.00 | T | \$2,544.00 |
| | IVORY NAPKINS | 420 | \$2.50 | Т | \$1,050.00 |
| | VINTAGE WATER GOBLETS (AMBER COLOR) FOR GUEST SEATING TABLES | 404 | \$2.95 | T | \$1,191.80 |
| | IVORY VELVET DRAPING (FOR ENTIRE GYM) | 1 | \$4,200.00 | Т | \$4,200.00 |
| | GREEN ARTIFICIAL 8FT TREES | 2 | \$250.00 | Т | \$500.00 |
| | GREEN ARTIFICIAL TREES (PURCHASED) | 4 | \$400.00 | Т | \$1,600.00 |
| | | Tota | Total RECEPTION (GYM) | | |
| LIGHTING RECE | PTION (GYM) | | | | |
| | STAGE LIGHTING WASH (TO HIGHLIGHT DECAL AND WALLS) | 1 | \$150.00 | Т | \$150.00 |
| | BUFFET LIGHTING WASH + COLOR GELS | 2 | \$100.00 | Т | \$200.00 |
| | LED Uplights (SOFT AMBER COLOR) 6-GREEN TREES/2-AT GIRLS STAGE/22-AROUND ROOM) | 35 | \$35.00 | Т | \$1,225.00 |
| | STRING LIGHTING (FOR ENTIRE GYM) | 1 | \$2,750.00 | Т | \$2,750.00 |
| | BAR LIGHTING WASH + COLOR GELS | 1 | \$100.00 | Т | \$100.00 |
| | Т | Total LIGHTING RECEPTION (GYN | | YM) | \$4,425.00 |
| BAR WARE/GLA | SSWARE | | | | |
| | WINE GLASSES 8oz FOR BUFFETS | 250 | \$0.90 | Т | \$225.00 |

| Description | | Qtty | Price | | Total |
|-------------|---------------------------------|-----------|--------------------------|---|------------|
| | HIGH BALL GLASSES 9oz | 425 | \$0.90 | Т | \$382.50 |
| | OLD FASHIONED GLASSES | 400 | \$0.90 | Т | \$360.00 |
| | | Total BAR | Total BAR WARE/GLASSWARE | | |
| Services | | | | | |
| | TRUCKING FEE | 3 | \$275.00 | | \$825.00 |
| | EVENT INSTALLATION FEE (SUNDAY) | 12 | \$250.00 | | \$3,000.00 |
| | EVENT INSTALLATION FEE (MONDAY) | 10 | \$175.00 | | \$1,750.00 |
| | EVENT BREAKDOWN FEE | 12 | \$225.00 | | \$2,700.00 |
| | CC FEE (\$10K PAYMENT) | 1 | \$350.00 | | \$350.00 |
| | 9.5% SALES TAX | 1 | \$3,137.13 | | \$3,137.13 |

Notes Total Products: \$33,076.80

Total Labor/Services/Misc: \$11,762.13

Taxes (tax excempt): \$0.00

Discounts: (\$0.00)

Total: \$44,838.93

Payments: (\$44,838.93)

Balance: \$0.00